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Top Graph shows the MegaPulsa D F-1 Vout output.

*Viout” 100:1 Voltage Output BNC jack.
Note output is 13.0V, corresponding to asu rge output voltage of 1300V,
Truncation point is at 17.9mS5ec, and the voltage truncation is at 50% of Vipeak.

This corresponds te 750¥ when 1500V peak is set on the front panel of the tester.

'

5;#_:...:. ... T St AT L O . VAP P ol N ... ... TR PP P 1 ... VeI PEER | | L

Bottom Graph shows the MegaPulse DF-1 lout output.

“lout” showws output current at 1VW/mA
This example uses a 100kohm resistor at;.me end of the test leads
to simulate a failing result because the current is higher than 10mA at TmbSec.
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